Potencias de 10 (G)

52--0.001

34 +-0.001

20--0.001

73 +0.001

60--0.001

69 - 0.001

47--0.001

6-+0.001

58 +-0.001

8-+-0.001

Calcule los siguientes cocientes.

52-+-0.001

70=-0.001

60--0.001

90--0.001

15-+0.001

65+ 0.001

8 +0.001

74 +0.001

20--0.001

97-+0.001
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Potencias de 10 (G) Respuestas

52+0.001
52,000
34+0.001
34,000
20+0.001
20,000
73+0.001
73,000
60+ 0.001
60,000
69 = 0.001
69,000
47+0.001
47,000
6-+0.001
6,000
58 +0.001
58,000
8 +0.001
8,000

Calcule los siguientes cocientes.

52-+0.001
52,000
70=0.001
70,000
60 = 0.001
60,000
90+ 0.001
90,000
15+0.001
15,000
65-+0.001
65,000
8 +0.001
8,000
74+0.001
74,000
20-0.001
20,000
97+0.001
97,000
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